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QUESTION 1
HOTSPOT

You have the following code segment. Line numbers are included for reference only.

81 public class Customer

@2 {

a3 private int id = 3;

o4 public stotic woid main{String[] orgs)
a5 {

BE Customer customer = new Customer();
a7 id = 5;

g8 showId{);

89 T

18

11 protected void showId({)

12 [

13 System.ouvt.println(id);

14 b

15 }

The code does not compile.

For each of the following statements, select Yes if the action is required to resolve the compilation error. Otherwise,

select No.
NOTE: Each correct selection is worth one point.

Hot Area:

Answer Area
Yes

Change the access modifier of the variable id to public.
Change the access modifier of the showid method to public.

On lines 07 and 08, add the prefix customer. to id and showId(}.

Correct Answer:

Answer Area
Yes

Change the access modifier of the variable id to public.
Change the access madifier of the showtd method to public.

On lines 07 and 08, add the prefix customer. to id and showId(}.
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References: https://docs.oracle.com/javase/tutorial/java/javaOO/accesscontrol.html

QUESTION 2
HOTSPOT
You work for Woodgrove Bank as a Java programmer.

You need to evaluate the following class. Line numbers are included for reference only.

81 public class Account {
82  protected int balance;
83 public Account() {

&4 balance = @;

a5 1

@6  public Account(int amoumt) {
a7 balance = amount;

@8 1}

eg }

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct
selection is worth one point.

Hot Area:

Answer Area

Yes No
The Account class has a single constructor.
Cther classes can inherit the Account class.
Line O7 is equivalent to this.balance = amount;
Correct Answer:
Answer Area
Yes No

The account Class has a single constructor.
Cther classes can inherit the Account class.

Line O7 is equivalent to this.balance = amount;

References: https://docs.oracle.com/javase/tutorial/java/javaOO/constructors.html
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QUESTION 3
HOTSPOT

You work on a team that develops e-commerce applications. A member of the team creates a class named DB that
connects to a database. The class contains a method named query.

You need to initiate the DB class and invoke the query method.
How should you complete the code? To answer, select the appropriate code segments in the answer area.
NOTE: Each correct selection is worth one point.

Hot Area:

Answer Area

DB db = v

DB()
new DB
new DB()

e

db.query()
DB.query

query()

Correct Answer:
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Answer Area

DB db = v H
DB()
new DB
new DB()

db.query() |
DB.query

quen() |

References: https://docs.oracle.com/javase/8/docs/api/java/lang/reflect/Method.html#invoke-java.lang.Object-
java.lang.Object...

QUESTION 4
The question requires that you evaluate the underlined text to determine if it is correct.

You should use an int data type to store the numeric value 3,000,000,000 (3 billion) so that the least amount of memory
is used.

Review the underlined text. If it makes the statement correct, select "No change is needed." If the statement is incorrect,
select the answer choice that makes the statement correct.

A. No change is needed.
B. a short
C. a byte
D. along

Correct Answer: D

QUESTION 5
HOTSPOT
The program is supposed to display a message to the console while it counts down from 60. The method does not work

as intended.
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How should you complete the code? To answer, select the appropriate code segments in the answer area.
NOTE: Each correct selection is worth one point.

Hot Area:

Answer Area

public stetic woid main({String[] args) {
int timer = 68;

while (timer - @) 1
o=
=
==
if (timer w | 2) {
=
==
break;
iy
else
System.out.println{"The timer is counting down..."};
timer - |
+=
—+
5
¥

Correct Answer:
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Answer Area

public stetic woid main({String[] args) {
int timer = 68;

while (timer - @) 1
<=
e
==
if {(timer w 2) {
=
==
break;
iy
else
System.out.println{"The timer is counting down..."};
timer - |
+=
-+
5
¥

References: https://docs.oracle.com/javase/tutorial/java/nutsandbolts/operators.html
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